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“What are the basic mathematical models of delay profiles.
o7 Coifoppnfrort” 8+6+6=20

If ::u-rv are 380 seizures (lines connected for services) and
410 bl cked calls (lost calls) during the busy hour, what is the
blocking probability.

1lIn a wireless network each subscriber generates two calls per
hour on the aver

age and a typical call holding time is 120
spconds. What is the traffie intensity ? {

Lhe maximum cells per hour in a mobile cell equals 4000
and the average call holding time is 160 If the
blocking probability is 2% find the offered load A. How many
service channels are required to handle the load
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W) 1a the GSM 800 digital ¢

way bandwidth of the
sPacing s 200 Kits
Eight users share

iannehized cellular system, the ane

System 1s 125 MHz. The RV changael

each RF channel and three channels per

cell are used for control chaunels. Calculate the spectral

ethiciency of modulation (for a dense metropolitan ares wich

small cells) using the tollowing parameters. |

\rea of a cell = 8§ kmt

Total coverage area = 4000 km*

Average number of Gﬂh’* _

the busy hour = 3.8 ; i

Average holding h-‘

Call blocking probability

Frequency reuse Lag

() A hopping bandwidths
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